MATHS

BOOKS - VGS PUBLICATION-BRILLIANT

LINEAR EQUATIONS IN ONE VARIABLE

1. Which of the following are linear equations :

4x+6=8

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EguMQm6XJ1wd

2. Which of the following are linear equations :

4x-5y=9

o Watch Video Solution

3. Which of the following are linear equations :

5z% + 6zy- 4y*=16

o Watch Video Solution



https://dl.doubtnut.com/l/_EguMQm6XJ1wd
https://dl.doubtnut.com/l/_HZw7gcLORo0z
https://dl.doubtnut.com/l/_HmMsmovUcLVt

4. Which of the following are linear equations :

Xy +yz+zx=1

o Watch Video Solution

5. Which of the following are linear equations

:3X + 2y -6=0

o Watch Video Solution



https://dl.doubtnut.com/l/_AF4vRsRh8pWh
https://dl.doubtnut.com/l/_QccH47vUwBtp

6. Which of the following are linear equations :

3=2x+y

o Watch Video Solution

7. Which of the following are linear equations :

7p + 6q +13s,=11

o Watch Video Solution



https://dl.doubtnut.com/l/_Ub9LPp7uCJTW
https://dl.doubtnut.com/l/_Y2lJIk8LNYmJ

8. Which of the following are simple equations

?3x+5=14

o Watch Video Solution

9. Which of the following are simple equations

?3X-6=x+2

o Watch Video Solution



https://dl.doubtnut.com/l/_MGl4WDv2GbNJ
https://dl.doubtnut.com/l/_RGnBXHPKHXVR

10. Which of the following are simple

equations 73 =2x+y

o Watch Video Solution

1. Which of the following are simple

equations ?% +5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_DgqbpJuI1tY6
https://dl.doubtnut.com/l/_HsLFANLhlDqb

12. Which of the following are simple

equations ?z* + 5z + 3 = 0

o Watch Video Solution

13. Which of the following are simple

equations ?5m - 6n=0

o Watch Video Solution



https://dl.doubtnut.com/l/_3MHWZqU6p5DD
https://dl.doubtnut.com/l/_QxYtjwixYBja

14. Which of the following are linear equations

: 7p + 6q +13s,=11

o Watch Video Solution

15. Which of the following are simple

equations ?13t-26=39

o Watch Video Solution

16. Solve the equation 3y + 39 =8



https://dl.doubtnut.com/l/_mteLCqiz5tHl
https://dl.doubtnut.com/l/_pk1x6sDNvoug
https://dl.doubtnut.com/l/_MXK7Ll2utfTS

o Watch Video Solution

17. Solve % —p=11

o Watch Video Solution

18. Solve the following simple equations :6m =

12

o Watch Video Solution



https://dl.doubtnut.com/l/_MXK7Ll2utfTS
https://dl.doubtnut.com/l/_71QLsbIqE1gb
https://dl.doubtnut.com/l/_rMwhYlurv0wt

19. Solve the following simple equations :14p =-

42

o Watch Video Solution

20. Solve the following simple equations :- 5y =

30.

o Watch Video Solution



https://dl.doubtnut.com/l/_P9u6spqUoho4
https://dl.doubtnut.com/l/_rd24SQV1uwq2

21. Solve the following simple equations :-

2x=-12

o Watch Video Solution

22. Solve the following simple equations :34x

=-51

o Watch Video Solution



https://dl.doubtnut.com/l/_dyXWev0hCxLq
https://dl.doubtnut.com/l/_TxHdh1J0pWH9

23. Solve the following simple equations :

n
= -3

o Watch Video Solution

24. Solve the following simple equations :

2T

= 18
3

o Watch Video Solution



https://dl.doubtnut.com/l/_Ix91oADh1Hav
https://dl.doubtnut.com/l/_QjfVcH7H4E1X

25. Solve the following simple equations

:3x+1=16

o Watch Video Solution

26. Solve the following simple equations :3p-

7=0

o Watch Video Solution



https://dl.doubtnut.com/l/_O5YhlF69Nqc0
https://dl.doubtnut.com/l/_GNWQoOdqkFMA

27. Solve the following simple equations :13-

6n=7/

o Watch Video Solution

28. Solve the following simple equations :200y-

51=49

o Watch Video Solution



https://dl.doubtnut.com/l/_mYEjqz3r0PhU
https://dl.doubtnut.com/l/_fE1coUS2N7qh

29. Solve the following simple equations

:1Tn+1=1

o Watch Video Solution

30. Solve the following simple equations :7x-

9=16

o Watch Video Solution



https://dl.doubtnut.com/l/_T9lM8k030PeL
https://dl.doubtnut.com/l/_IbGfVpU2DNY8

31. Solve the following simple equations :

8—|—5—13
T+ 5 =

o Watch Video Solution

32. Solve the following simple equations :

4 5—9
T 5 =

o Watch Video Solution



https://dl.doubtnut.com/l/_FOMCerN1eRWl
https://dl.doubtnut.com/l/_tObrXbFaQvOw

33. Solve the following simple equations :

4 1

o Watch Video Solution

34. Find the value of 322 if x=-1

o Watch Video Solution

35. Sum of two numbers is 29 and one number

exceeds another by 5. Find the numbers.



https://dl.doubtnut.com/l/_1xmVOesf9mT0
https://dl.doubtnut.com/l/_73BRFcolU3TB
https://dl.doubtnut.com/l/_m5NGPOI4mUAq

o Watch Video Solution

36. Four times a number reduced by 5 equals

19. Find the number.

° Watch Video Solution

37. The length of a rectangle shaped park
exceeds its breadth by 17 meters. If the
perimeter of the park is 178 meters, find the

dimensions of the park.

| & I


https://dl.doubtnut.com/l/_m5NGPOI4mUAq
https://dl.doubtnut.com/l/_8FvkteGL1Zwi
https://dl.doubtnut.com/l/_cV1E02jOyD30

| ¥ Watch Video Solution |

38. Two supplementary angles differ by 34.

Find the angles.

° Watch Video Solution

39. The present age of Vijay's mother is four
times the present age of Vijay. After 6 years
the sum of their ages will be 62 years. Find

their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_cV1E02jOyD30
https://dl.doubtnut.com/l/_wJchCn73kM3b
https://dl.doubtnut.com/l/_lT7JLvnKQxYa

40. There are 180 multiple choice questions in
a test. A candidate gets 4 marks for every
correct answer, and for every un-attempted or
wrongly answered questions one mark is de
ducted from the total score of correct
answers. If a candidate scored 450 marks in
the test how many questions did he answer

correctly?

o Watch Video Solution



https://dl.doubtnut.com/l/_lT7JLvnKQxYa
https://dl.doubtnut.com/l/_ArWE9gB45Qqj
https://dl.doubtnut.com/l/_BermEVAE7ofW

41. Ravi works as a cashier in a bank. He has
currency of denominations %100, ¥50, 10
respectively. The ratio of number of these
notes is 2:3:5. The total cash with, Ravi is
34,00,000. How many notes of cash of each

denomination does he have?

o Watch Video Solution

42. The difference between two numbers is 8.

If 2 is added to the bigger number the result


https://dl.doubtnut.com/l/_BermEVAE7ofW
https://dl.doubtnut.com/l/_g8TgQwis2bcp

will be three times the smaller number. Find

the numbers.

° Watch Video Solution

43. What are those two numbers whose sum is

58 and difference is 28?7

o Watch Video Solution

44. The sum of two consecutive odd numbers

is 56. Find the numbers.


https://dl.doubtnut.com/l/_g8TgQwis2bcp
https://dl.doubtnut.com/l/_uQ081jBIldFP
https://dl.doubtnut.com/l/_TvXKA1Zv2lSX

° Watch Video Solution

45. The sum of three consecutive multiples of
7 is 777. Find these multiples. (Hint: Three

consecutive multiples of 7 are 'x', 'x+ 7', x + 14).

° Watch Video Solution

46. A man walks 10 km, then travels a certain

distance by train and then by bus as far as


https://dl.doubtnut.com/l/_TvXKA1Zv2lSX
https://dl.doubtnut.com/l/_Psv1uzIOWjGb
https://dl.doubtnut.com/l/_lsVhgJyJGjnV

twice by the train. If the whole journey is of 70

km, how far did he travel by train ?

o Watch Video Solution

47. Vinay bought a cake and cut it into three
pleces. When he weighed the first, place he
found that it was 7g lighter than the second
piece and 4g heavier than the third plece. If
the whole cake weighed 300g. How much did

each of the three pieces weigh?(Hint: Weight


https://dl.doubtnut.com/l/_lsVhgJyJGjnV
https://dl.doubtnut.com/l/_IXCSl2EBe2NJ

of first piece be 'x' then weight of the second

piece is x +7', weight of the third plece is 'x-4).

° Watch Video Solution

48. The distance around a rectangular field is
400 metres. The length of the field is 26
metres more than the breadth. Calculate the

length and breadth of the field.

o Watch Video Solution



https://dl.doubtnut.com/l/_IXCSl2EBe2NJ
https://dl.doubtnut.com/l/_3mlLiNHGEY9v

49, Length of a rectangle is 8 m less than twice
its breadth. If the perimeter of the rectangle is

56 m, Find its length and breadth.

o Watch Video Solution

50. Two equal sides of a triangle are each 5
metres less than twice the third side. If the
perimeter of the triangle is 55 metres, find the

length of its sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_cdI4CVRKI8pI
https://dl.doubtnut.com/l/_nEUvcA7DzLkA

51. The larger of two supplementary angles

exceeds the smaller by 12°. Find the angles.

o Watch Video Solution

52. The ages of Rahul and Lakshmi are in the
ratio 5 : 7. Four years later, the sum of their
ages will be 56 years. What are their present

ages ?

° Watch Video Solution



https://dl.doubtnut.com/l/_nEUvcA7DzLkA
https://dl.doubtnut.com/l/_juPFpHtomjF3
https://dl.doubtnut.com/l/_fp9xGdJYmGJR

53. There are 180 multiple choice questions in
a test. A candidate gets 4 marks for every
correct answer, and for every un-attempted or
wrongly answered questions one mark is de
ducted from the total score of correct
answers. If a candidate scored 450 marks in
the test how many questions did he answer

correctly?

o Watch Video Solution



https://dl.doubtnut.com/l/_083p5lSycvou

54, A sum off 500 is in the form of
denominations of ¥5 and 10. If the to tal
number of notes is 90 find the num- ber of
notes of each denomination: (Hint: Let the
number of 5 rupee notes be 'x', then number

of 10 rupee notes =90 - x)

o Watch Video Solution

55. A person spent ¥564 In buying pens and

pencils if cost of each penis ¥7 and each pencil


https://dl.doubtnut.com/l/_b17DiIFZZ3gg
https://dl.doubtnut.com/l/_Z4Zsb4xupGRJ

is ¥3 and if the total number of things bought

was 108, how many of cach type did he buy?

° Watch Video Solution

56. The perimeter of a school volleyball court
is 177 ft and the length is twice the width.
What are the dimensions of the volleyball

court ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Z4Zsb4xupGRJ
https://dl.doubtnut.com/l/_9C7iZfNOLsPP

57. The sum of the page numbers on the
facing pages of a book 373. What are the page
numbers ? (Hint: Let the page numbers of

open pages are x and x + 1)

o Watch Video Solution

58. The present ages of Rafi and Fathima are in
the ratio 7:5. Ten years later the ratio of their

ages will be 9: 7. Find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_QlVcXsRH4dLH
https://dl.doubtnut.com/l/_YeLYjB52ZKem

59. Solve: 5(z + 2) — 2(3 — 4x)

o Watch Video Solution

60. Solve the following equations

Tt — 5 =2x

o Watch Video Solution



https://dl.doubtnut.com/l/_YeLYjB52ZKem
https://dl.doubtnut.com/l/_QpX0o1JnvcMI
https://dl.doubtnut.com/l/_PFfTE4epX1k4

61. Solve the following equations
br — 12 =2z — 6

o Watch Video Solution
62. Solve the following equations

w—3=3p+8

o Watch Video Solution



https://dl.doubtnut.com/l/_ZOlj9RcjZVbd
https://dl.doubtnut.com/l/_97PUKByNrf1z

63. Solve the following equations
8m + 9 =Tm + 8

o Watch Video Solution
64. Solve the following equations

z+13=2z+4+4

o Watch Video Solution



https://dl.doubtnut.com/l/_eMy9gISEQ0Ma
https://dl.doubtnut.com/l/_qItihgnXSgMg

65. Solve the following equations

Qy+5 =15y — 1

o Watch Video Solution

66. Solve the following equations

3z +4 = 5(x — 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_2zIqRovVQgnz
https://dl.doubtnut.com/l/_VKxDUYuRrYkW

67. Solve the following equations

3(t — 3) = 5(2t — 1)

o Watch Video Solution

68. Solve the following equations

5(p—3) =3(-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_gSTArnQEtOT2
https://dl.doubtnut.com/l/_HAPZB5NbrXek

69. Solve the following equations

5(z+3) = 4(2z+ 1)

o Watch Video Solution

70. Solve the following equations

15(z — 1) +4(x +3) =2(7T+ z)

o Watch Video Solution



https://dl.doubtnut.com/l/_PBYPbfBL9QpN
https://dl.doubtnut.com/l/_rlpdnG91OgDk

71. Solve the following equations

36z —7)+2(z—11) =4(82z—7) — 111

o Watch Video Solution

72. Solve the following equations

8(x —3) — (6 —2x) =2(x+2) —5(b—x)

o Watch Video Solution



https://dl.doubtnut.com/l/_KKjIheWkwIBF
https://dl.doubtnut.com/l/_WgX1dOSnVqhV

73. Solve the following equations

3(n —4) +2(4n — 5) = 5(n + 2) + 16.

° Watch Video Solution

74. In the given figure AB || CD, BC || DE then

find the values of x and y



https://dl.doubtnut.com/l/_T8St32bzzVzz
https://dl.doubtnut.com/l/_PXkglCrZCyoa

L " Watch Video Solution J

75. Hema is 24 years older than her daughter
Dhaminl. 6 years ago, Hema was thrice as old

as Dhamini.Find their present ages.

o Watch Video Solution

76. A two digit number is such that the
product of its digits, is 8. When 18 is added to
the number, they interchange their places.

Determine the number.



https://dl.doubtnut.com/l/_PXkglCrZCyoa
https://dl.doubtnut.com/l/_nAPtirglZlv4
https://dl.doubtnut.com/l/_9GmtULfvvZwu

[ o Watch Video Solution

77. A motorboat goes a down stream in a river
and covers the distance between two coastal
towns in five hours. It covers this distance
upstream in six hours. If the speed of the
stream is 4 2 km /hours find the speed of the

boat in still water.

o Watch Video Solution



https://dl.doubtnut.com/l/_9GmtULfvvZwu
https://dl.doubtnut.com/l/_dEDcNzJ8xen4

78. Eight times of a number reduced by 10 is
equal to the sum of six times the number and

4. Find the number.

o Watch Video Solution

79. A number consists of two digits whose sum
is 9. If 27 is subtracted from the number its

digits are reversed. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_Yv3YA4IeiYve
https://dl.doubtnut.com/l/_WLL4t4StvGiW
https://dl.doubtnut.com/l/_lT5DR1wHk4KL

80. A number is divided into two parts such
that one part is 10 more than the other. If the
two parts are in the ratio 5:3, find the number

and the two parts.

o Watch Video Solution

81. When | triple a certain number and add 2, |
get the same answer as | do when | subtract

the number from 50. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_lT5DR1wHk4KL
https://dl.doubtnut.com/l/_L1FCykfC730D

82. Mary is twice older than her sister. In 5
years time, she will be 2 years older than her

sister. Find how old are they both now.

o Watch Video Solution

8.In 5 years time, Reshma will be three times
old as she was 9 years ago. How old is she

now?

o Watch Video Solution



https://dl.doubtnut.com/l/_c0bwKP8aYRvk
https://dl.doubtnut.com/l/_WdydQQyLg9Gh
https://dl.doubtnut.com/l/_X2KUjarpSkmd

84. A town's population increased by 1200
people, and then this new popu lation
decreased 11%. The town now ,, had 32 less
people than it did before the 1200 increase.

Find the original population.

o Watch Video Solution

€T 1 €T 1
.Solve:— — — = —
85. Solve 5 1 3

3

o Watch Video Solution



https://dl.doubtnut.com/l/_X2KUjarpSkmd
https://dl.doubtnut.com/l/_3GT2aWBntdzO
https://dl.doubtnut.com/l/_XuKfJGQCQsRD

86.33_4 — z+4 = $+3thenx=
7 5 7 "

o Watch Video Solution

br + 2 B 12

2¢ + 3 7

87. Solve the equation:

o Watch Video Solution

88. Solve the equation: T = 4
3z + 16 7

o Watch Video Solution



https://dl.doubtnut.com/l/_XuKfJGQCQsRD
https://dl.doubtnut.com/l/_hHsCL6FEau8V
https://dl.doubtnut.com/l/_lDEHBkeb100n
https://dl.doubtnut.com/l/_N8tTDYoKr65i

89. Rehana got 24% discount on her frock. She
paid ¥380 after discount. Find the marked

price of the frock.

o Watch Video Solution

90. Four fifths of a number is greater than
three fourths of the number by 4:Find, the

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_N8tTDYoKr65i
https://dl.doubtnut.com/l/_DCEAHoocLmUT

91. John sold his watch for ¥301 and lost 14%

on it. Find the cost price of the watch.

° Watch Video Solution

92. A man had to walk a certain distance. He
covered two thirds of it at 4 kmph lat and the
remaining at 5 kmph. If the total time taken is

42 minutes, find the total distance.

o Watch Video Solution



https://dl.doubtnut.com/l/_d89lI6Tzkuti
https://dl.doubtnut.com/l/_cjk9WZsYlP7P
https://dl.doubtnut.com/l/_UDTa36a9XWaA

93. The numerator of a fraction is 6. less than
the denominator. If 3 is added to the
numerator, the fraction is equal to — find the

3

original fraction.

o Watch Video Solution

94. Sirisha has 39 in fifty-paisa and twenty five
paise coins. She has twice as many twenty five
paise coins as she has fifty paise coins. How

many coins of each kind.does she have?

o Watch Video Solution



https://dl.doubtnut.com/l/_UDTa36a9XWaA
https://dl.doubtnut.com/l/_j49wY23ziMjC

95. A man driving his moped at 24 kmph
reaches his destination 5 minutes late to an
appointment. If he had driven at 30 kmph he
would have reached his destination 4 minutes

before time. How far is his destination ?

o Watch Video Solution

96. Solve the following  equations:



https://dl.doubtnut.com/l/_j49wY23ziMjC
https://dl.doubtnut.com/l/_VUhqyZFKDav2
https://dl.doubtnut.com/l/_J2CXsLcK1wSp

I &9 Watch Video Solution

97. Solve the following equations
xr T
—— — =14
3 4
o Watch Video Solution
98. Solve the following equations

+ — 8

2L2_Z
2 3 6

o Watch Video Solution



https://dl.doubtnut.com/l/_J2CXsLcK1wSp
https://dl.doubtnut.com/l/_wSu6IFJVVxMc
https://dl.doubtnut.com/l/_HUVydo98mfDZ
https://dl.doubtnut.com/l/_CclwzK0MddzX

99. Solve the following equations
2 2
L P _ 11=

3 5 3

° Watch Video Solution
100. Solve the following equations
9 I 1 1

1 Y773

o Watch Video Solution
101. Solve the following equations

T 4 T 3T 1
2

55 T 10 3



https://dl.doubtnut.com/l/_CclwzK0MddzX
https://dl.doubtnut.com/l/_Yza6CUd7VYgz
https://dl.doubtnut.com/l/_PznKCPIhMRgh

° Watch Video Solution

1
2

102. Solve :2 —

_ +
2 4

z
3

° Watch Video Solution

103. Solve the following
2c —3 2
3t +2 3

equations

o Watch Video Solution



https://dl.doubtnut.com/l/_PznKCPIhMRgh
https://dl.doubtnut.com/l/_LSbWphq4Ri0b
https://dl.doubtnut.com/l/_GgPaVaLGJxwg

104. Solve the following equations

8p — 5 —2

+1 4

o Watch Video Solution

105. Solve the following equations

Ty+2 6y—>9o
5 11

o Watch Video Solution



https://dl.doubtnut.com/l/_1l84CH0MPHun
https://dl.doubtnut.com/l/_RVyPxgWpf5Vd

106. Solve the following equations

T+ 5 r+1 r+ 3

6 9 4

o Watch Video Solution

107. Solve the equation
3t +1 2t—3_t—|—3+3t—1
16 7 8 14

o Watch Video Solution



https://dl.doubtnut.com/l/_w6vXe8uRdQKO
https://dl.doubtnut.com/l/_Ft4Hr5EbgthM

108. What number is that of which the third

part exceeds the fifth part by 4?

° Watch Video Solution

109. The difference between two positive
integers is 36. The quotient when one integer
is divided by other is 4. Firid the Integers.
(Hint: If one number is 'x, then the other

number is 'x - 36')

° Watch Video Solution



https://dl.doubtnut.com/l/_cgNK6nwK8tDw
https://dl.doubtnut.com/l/_dgJZP2gY9XN7

110. The numerator of a fraction is 4 less than

the denoininator. If 1 is added to both its

1
numerator and denominator, it becomes —

Find the fraction.

o Watch Video Solution

111. Find three consecutive numbers such that
if they are divided by 10, 17 and 26 respectively,

the sum of their quo tients will be 10. (Hint:


https://dl.doubtnut.com/l/_dgJZP2gY9XN7
https://dl.doubtnut.com/l/_z91s7EakwrAS
https://dl.doubtnut.com/l/_6Ddy56wVadZp

Let the con secutive numbers =x, x+ 1x +2,

1 2
x x + x + :10>

then1—0+ 17 + 6

° Watch Video Solution

112.In class of 40 pupils the number of girls is
three-fifths of the number of boys. Find the

number of boys in the class.

° Watch Video Solution



https://dl.doubtnut.com/l/_6Ddy56wVadZp
https://dl.doubtnut.com/l/_XG4aLS66rIf6

113. After 15 years, Mary's age will be four times

of her present age. Find her present age.

o Watch Video Solution

114. Aravind has a kiddy bank. It is full of one-
rupee and fifty paise coins. It con tains 3 times
as many fifty paise colns as one rupee coins.
The total amount of the money in the bank is

35. How many coins of each kind are there in

the bank?

| & I


https://dl.doubtnut.com/l/_QanTjcdqEnYv
https://dl.doubtnut.com/l/_xsy3w67oEmFA

| ¥ Watch Video Solution |

115. A and B together can finish a piece of work
in 12 days. If 'A’ alone can finish the same work

in 20 days, how many days B alone can finish it

?

o Watch Video Solution

116. If a train runs at 40 kmph it reaches its

destination late by 11 minutes. But If it runs at


https://dl.doubtnut.com/l/_xsy3w67oEmFA
https://dl.doubtnut.com/l/_kLgQA4v9KLQb
https://dl.doubtnut.com/l/_MsFsmbm65Sjn

50 kmph it is late by 5 min utes only. Find the

distance to becovered by the train.

° Watch Video Solution

117. One fourth of a herd of goats was seen in
the forest. Twice the square root of the
number in the herd had gone up the hill and
the remaining 15 goats were on the bank of

the river. Find the total number of goats.

° Watch Video Solution



https://dl.doubtnut.com/l/_MsFsmbm65Sjn
https://dl.doubtnut.com/l/_rGYkOIzcrm2B
https://dl.doubtnut.com/l/_MsgYflpgwMpB

118. By selling a radio for ¥ 903,a shop keeper

gains 5%. Find the cost price of the radio.

o Watch Video Solution

119. Sekhar gives a quarter of his sweets to
Renu and then gives 5 sweets to Raji. He has 7
sweets left. How many did he have to start

with ?

° Watch Video Solution



https://dl.doubtnut.com/l/_MsgYflpgwMpB
https://dl.doubtnut.com/l/_y3GqcAhcdvud
https://dl.doubtnut.com/l/_3UTgoFy8SWQM

120. The form of a two - digit number?

A.10 X ten's digit + unit's digit

B.10 X unit's digit + ten's digit

C.10 x tens digit - unit's digit

D.10 X unit's digit - tens digit

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3UTgoFy8SWQM

121. Which of the following is a linear

equation?

A2z +5=0

B. 4x+5=1

C. 2xy+z=5

D. All the above

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iV1QW2s5YlgP
https://dl.doubtnut.com/l/_U9ZakGYV9kdT

122.If 22 — 7 = 35 then x=

A 21

B. 22

C.23

D. 19

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_U9ZakGYV9kdT

123. The sum of two numbers is 29. If one

number is 5 greater than the other, then the

bigger number is

A. 12

B.15

C.17

D. 14

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DBAH1AkMiLcf

124.1f 22 — 3 =42 +5 = ¢ =

B.2

C.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EujlkmQ8fvEB

125. "If 5 is subtracted from 4 times of a

number gives 19, then the number is

A4

B.6

C.8

D.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8Jk1J7RjYhe0
https://dl.doubtnut.com/l/_AzsPaGocvJaK

126. The length of a rectangular park is « 177m

more than the breadth. If its perimeter is 178

m, then the length is.(in mts)

A.53

B.36

C.17

D. 49

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_AzsPaGocvJaK
https://dl.doubtnut.com/l/_ax7NA7NsG41S

A5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ax7NA7NsG41S

128. The difference of two linear angles is 34

then the smaller angle is

A.49°

B.107°

C.73°

D. 83°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_l7Ajldc2vvLc
https://dl.doubtnut.com/l/_1qu4nIRQ4MHi

129. Present age of Rajesh is x years. After 5

years his age will be

A. z / byears

B. (x-5)years

C. (x+5)years

D. (5-x)years

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1qu4nIRQ4MHi

130. If 2t =0 then 't'=

A 1
2
B.O
C.—3

D. can't be determine

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LhVFgPFrgnLv

131. If 5(p-3)=3(p-2)then p=

A9

2
B.—
2

C. 44441

D. — —
9

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Zmc927VzpXEE

132. If % + %=5 then x=

A5
B.6
C.4

D. 30

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_SEl8nAW7iz2O

7 4
133. Solve the equation: rhr 2

3r + 16 7
A —1
B.—2
C.—3
D.—4
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3GiByT2LTbQG

134. gtimes of a number is 4 greater than 1

times of the same number. Then the number is

A. 20

B.30

C.60

D. 80

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_c1MCjHlP9MyP
https://dl.doubtnut.com/l/_TWCOKHuYoDeF

135. 2015k = 2016 — 2016 then k=

Al

5. 2015

C.0O

D.9

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_TWCOKHuYoDeF

136. 'In a fraction the denominator is 6 more
than the numerator. If 3 is added to

numerator the fraction equals to 3 then the

fraction is

A.3/9
B.2/9
C.2/6

D.3/6

Answer:

‘ o Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_IikqPcRFUV3G

r —4 a:—|—4_21:+3

137. — then x=

A 14

B.7

C.9

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_IikqPcRFUV3G
https://dl.doubtnut.com/l/_BGNJosjXEcUF
https://dl.doubtnut.com/l/_lGsVULSRQXj6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_lGsVULSRQXj6

139. Solve the following

3(t — 3) = 5(2t — 1)

Answer:

equations

o Watch Video Solution



https://dl.doubtnut.com/l/_tr8M8uMV8IE6
https://dl.doubtnut.com/l/_iQV4K9oxku7J

Mol _ 1 _ then x=
Wy g =g Tgthenx

>

Ol N[O B~ o=

Answer:

° Watch Video Solution

br + 2 B 12

141. Solve th tion: =
olve the equation %% -3 .


https://dl.doubtnut.com/l/_iQV4K9oxku7J
https://dl.doubtnut.com/l/_pkHSny3wD2SQ

C.4

D.2

Answer:

o Watch Video Solution

142. If the product of two consecutive

numbers is 72 then the smaller number is


https://dl.doubtnut.com/l/_pkHSny3wD2SQ
https://dl.doubtnut.com/l/_V1nRFsAkCe2n

A 3 19
. — — or
2
B.—4o0or6
C.—8orb6

D.8or —9

Answer:

° Watch Video Solution

1
143. 32 + 7= Sthenx=___

A3
2


https://dl.doubtnut.com/l/_V1nRFsAkCe2n
https://dl.doubtnut.com/l/_hEU5WHMRqkLI

Answer:

o Watch Video Solution

144.3x -4 = 5x - 2 then x=

B.4


https://dl.doubtnut.com/l/_hEU5WHMRqkLI
https://dl.doubtnut.com/l/_vEGjGTP1xwMh

C.1

Answer:

° Watch Video Solution

145.p— —— =1-—

=
= = o



https://dl.doubtnut.com/l/_vEGjGTP1xwMh
https://dl.doubtnut.com/l/_QKb3pzLt3Fbp

©| =

Answer:

o Watch Video Solution

1
146. Zm — 30 then x=

A.340
B.710
C.120

D. 110


https://dl.doubtnut.com/l/_QKb3pzLt3Fbp
https://dl.doubtnut.com/l/_IlkASzvLuVwX

Answer:

o Watch Video Solution

B.10

C.3

Answer:


https://dl.doubtnut.com/l/_IlkASzvLuVwX
https://dl.doubtnut.com/l/_cLEGuPLUenX2

° Watch Video Solution

148. Three consecutive numbers can be

considered as

B.x,x+1,x+ 2

2

C.x, 27, x-1
D. x, x- 1, 2X
Answer:



https://dl.doubtnut.com/l/_cLEGuPLUenX2
https://dl.doubtnut.com/l/_4CkvJnApothh

149. 2.45x + 1.5 =3.7x - 2.25 then x=

A 4

B.7

C.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4CkvJnApothh
https://dl.doubtnut.com/l/_KXzjnny433nV
https://dl.doubtnut.com/l/_35Vopr5b9I5G

A 11

B.10

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_35Vopr5b9I5G

151.3x -x= 0 then x =

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kqdLXeshNpho

152.% £ 11 — = then x=
.5 —15 enx=_

AT
B.—1
C.3

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_neZodjNzAUEQ

153. If we divide a number by 7 we get the

result as 5, then the number is

A.35

B.10

C.16

D.70

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tGNhXdLMIbM6
https://dl.doubtnut.com/l/_1tVeimrbLnBk

154. Which of the following is true ?

A.3x=10,x =1
B.2m =1, m=0
C 2 1 ]
.= X=1,Xx=—
3 2
D. 2x -x=9, x=9
Answer:

° Watch Video Solution

155.ax + ¢ =0 then x =


https://dl.doubtnut.com/l/_1tVeimrbLnBk
https://dl.doubtnut.com/l/_V7zQOY6U4Ugf

Answer:

° Watch Video Solution

156.3z -1=1then z=


https://dl.doubtnut.com/l/_V7zQOY6U4Ugf
https://dl.doubtnut.com/l/_kAqsAGhaz53d

N
Wl | w

Answer:

o Watch Video Solution

157. Which of the following equation has the

natural number as solution ?

A. 8x-3=4


https://dl.doubtnut.com/l/_kAqsAGhaz53d
https://dl.doubtnut.com/l/_LoEnyDF5s4hA

B. 2x=1

C. 9x=9

D. 3x+1=-0

Answer:

o Watch Video Solution

158.3z + 7 = — 20, x=

B. —91


https://dl.doubtnut.com/l/_LoEnyDF5s4hA
https://dl.doubtnut.com/l/_bwkCtQmEswkQ

Answer:

° Watch Video Solution

159. If x is 3 more then it becomes 7 the

equation form of this is

A. x=3+7

B. x-1=1


https://dl.doubtnut.com/l/_bwkCtQmEswkQ
https://dl.doubtnut.com/l/_FFxxdYcTShXB

C.x-3=4

D. x+3=7

Answer:

° Watch Video Solution

160. 43 k = 0.086 then k=

A. 0.02

B.0.7

C.0.2


https://dl.doubtnut.com/l/_FFxxdYcTShXB
https://dl.doubtnut.com/l/_472KqBa2xFB9

D. 0.002

Answer:

o Watch Video Solution

161. If y-15 and 2y +1 are to be equal then the

value of y is

A —16

B. 16

C.10


https://dl.doubtnut.com/l/_472KqBa2xFB9
https://dl.doubtnut.com/l/_qujcZtzdx105

D. 20

Answer:

o Watch Video Solution

162. Which of the following equation has '5' as

solution?

A. x-5=1

B. 10x=50

C. 6x=2


https://dl.doubtnut.com/l/_qujcZtzdx105
https://dl.doubtnut.com/l/_1lUuppn2HyPk

D. 50x=5

Answer:

o Watch Video Solution

163. The equation x = 6 can be obtained

B. x-1=5

C. x+6=7


https://dl.doubtnut.com/l/_1lUuppn2HyPk
https://dl.doubtnut.com/l/_BQ7BbsE0vUPO

D. 5x=66

Answer:

o Watch Video Solution

164. -6 +k =-12 then k=

A.3

B.10

D. 1


https://dl.doubtnut.com/l/_BQ7BbsE0vUPO
https://dl.doubtnut.com/l/_qacp6XATlCe6

Answer:

o Watch Video Solution

165. §=-31 then x=

A. 33
B. 1
C. —60
D. —62

Answer:


https://dl.doubtnut.com/l/_qacp6XATlCe6
https://dl.doubtnut.com/l/_AsfwgVKnRhJ2

° Watch Video Solution

166. is a solution to 3x=-1.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_AsfwgVKnRhJ2
https://dl.doubtnut.com/l/_jCk4CID2RoWw

167.2x + 3 =5 then 4x + 6=

A.10

B.16

C.13

D.9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jCk4CID2RoWw
https://dl.doubtnut.com/l/_jKcj66uGkDFg

168. 3x = 15 then x-4=

A.16

B.7

C.3

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_at9XcQyus9so

169. 4x-7 = 11 then x=

A.10

B.6

C.9

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8yzPVSEws67t

170. 3 (x-5)=8x -6 In this equation the number

of variables are

A2

B.3

C.1

D.4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iPrmMlt1TvUj
https://dl.doubtnut.com/l/_lhH2M52LfdwX

171 L 1th =
L — 5 = —thenx=__

A —1
B.O
C.9

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_lhH2M52LfdwX

172. If we add 4 to 8 times of a number we get

60 then, the number is

A7

B.6

C.9

D.10

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FtL4BsDCWmCe
https://dl.doubtnut.com/l/_m8TjOSsCnySA

173. If we subtract 11 from the double of a

number we get 15 then the number

A.18

B. 11

C.10

D.13

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_m8TjOSsCnySA
https://dl.doubtnut.com/l/_nhRqOAA4DaLP

174. Krishna Kishore took one numberlf he

subtracts 7 from the Eth value of the number,

11
he gets - as result then the number

A9
B.10
C.5

D.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nhRqOAA4DaLP

175. Sachin scored twice as many runs as

Rahul. Together, their runs fell two runs short

of a double century. How many runs did each

one score?

A. 132

B. 66

C.16

D. 98

Answer:


https://dl.doubtnut.com/l/_nhRqOAA4DaLP
https://dl.doubtnut.com/l/_oWI5jYlqQoHA

° Watch Video Solution

176. The age of Rani's father was 49 years and

he was 4 years more than 3 times the age of

Rani, then what is the age of rani?

A. 16 years

B. 15 years

C. 9years

D. 10years

Answer:


https://dl.doubtnut.com/l/_oWI5jYlqQoHA
https://dl.doubtnut.com/l/_ssdLJrK8pq29

° Watch Video Solution

177. %-1=2 thenz=_

A.16
B.10
C.19

D. 15

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ssdLJrK8pq29
https://dl.doubtnut.com/l/_tGMno4LCHPeH

2
178. 3V =1then y=

A3
2

N

Y
N[~ |

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tGMno4LCHPeH
https://dl.doubtnut.com/l/_hBAj1NZDard6

179. The sum ol 3 consecutive multiples of 7

was 357 then the smaller number is

A. 112

B. 116

C.135

D. 171

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_c4x2AQxOkQ3y
https://dl.doubtnut.com/l/_9lJVRELwOQfs

4 4
180.—7y ~ — 5 theny-

>

Ol ol Wl KR

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_9lJVRELwOQfs
https://dl.doubtnut.com/l/_71UyhJG5MzUv

AT

C.2

D. None

Answer:

o Watch Video Solution

182. An equation in one variable will

have solution(s).


https://dl.doubtnut.com/l/_71UyhJG5MzUv
https://dl.doubtnut.com/l/_kNaorgDnyJSE

Al

B.2

C.3

D. 4

Answer:

° Watch Video Solution

183.2 (a -3) =2 then a=

A 14


https://dl.doubtnut.com/l/_kNaorgDnyJSE
https://dl.doubtnut.com/l/_wShtJ7ltoz4H

C.4

D. 1

Answer:

o Watch Video Solution

T+ 2 7

184. = — th =
x — 2 3 X
A.5


https://dl.doubtnut.com/l/_wShtJ7ltoz4H
https://dl.doubtnut.com/l/_yGpPbp1bODKJ

C.10

D.6

Answer:

° Watch Video Solution

185.0.18 (5x - 4) = 0.5x +0.8, x=

A3

B.3.8

C.8



https://dl.doubtnut.com/l/_yGpPbp1bODKJ
https://dl.doubtnut.com/l/_WRkbBac6fDIv

D.1.9

Answer:

o Watch Video Solution

D. 1


https://dl.doubtnut.com/l/_WRkbBac6fDIv
https://dl.doubtnut.com/l/_uvFhBFdAFctH

Answer:

o Watch Video Solution

3
187. Z(Sx-1)=0 thenx=_

0 w >

o
|
p—t

Answer:


https://dl.doubtnut.com/l/_uvFhBFdAFctH
https://dl.doubtnut.com/l/_XvreRCFVjjmq

° Watch Video Solution

188. If we add 9 to a positive number we get

45, then the number is

A 13

B. 11

C.10

D. 12

Answer:



https://dl.doubtnut.com/l/_XvreRCFVjjmq
https://dl.doubtnut.com/l/_T9pg1g8EwQ5e

189. The sum of two consecutive positive

numbers is 10 then the smallest one

A.6

B.7

C.9

D. None

Answer:



https://dl.doubtnut.com/l/_T9pg1g8EwQ5e
https://dl.doubtnut.com/l/_AYAD4xCa6ca8

I D Watch Video Solution

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AYAD4xCa6ca8
https://dl.doubtnut.com/l/_1pkxCxxaANC9

191. 0.3x.+ 0.4= 0.28x + 1.16, x=

A.10

B.38

C.19

D. 29

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_P8SBW2Qb7TFi

192. —5(z +4) = 0, z=

A 41

D.7

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_OdvKmgTZtt1Q

193. Identify linear equation among the

following.
A3z’y+7=0
B.z%y> +1 =10

C. ax+3y+7z=0

D.9zy’z + 6yz = 0

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_qbm4hWwFlhSA
https://dl.doubtnut.com/l/_NEKZ7sw8nGTN

194. The degree of a Linear equation

IS

Al

B.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NEKZ7sw8nGTN

195. Identify a Linear equation in one variable

among the following.

A. 2x+y=0

B. 7x-3z+4p=0

C. 2(x-1)+7=9

D. 8x=3y+4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rx3KFguIF201
https://dl.doubtnut.com/l/_I7cfQHLvjZb1

1

4
196. FRAE) thenx=_

A.O
B.5
C.3

D. None

Answer:

° Watch Video Solution

1
197.1n E(t +3) =2(t + 7),LHS=


https://dl.doubtnut.com/l/_I7cfQHLvjZb1
https://dl.doubtnut.com/l/_xFSTTuCG1QEm

1
A —
2(t+3)
1
B. —({ —
5 (t—3)
C.t-3
1
D.—(t —1
5 (t—1)
Answer:

° Watch Video Solution

198.2 x=1+x,Xx =

A.O


https://dl.doubtnut.com/l/_xFSTTuCG1QEm
https://dl.doubtnut.com/l/_gRKZOpsg66s6

B.1

C.—3
D.—7
Answer:

o Watch Video Solution

199. After 12 years the age of Ramu is 3 times
the age before he was 4 years then his present

age is


https://dl.doubtnut.com/l/_gRKZOpsg66s6
https://dl.doubtnut.com/l/_qX4vLr0OJ29V

A.16

B.10

C.9

D. None

Answer:

° Watch Video Solution

200. The difference between two
complementary angles is 10° then the largest

angle is



https://dl.doubtnut.com/l/_qX4vLr0OJ29V
https://dl.doubtnut.com/l/_6LEKw8RnMyVP

A.40°

B.50°

C.70°

D.60°

Answer:

° Watch Video Solution

20l.z — 1 = % thenx=_


https://dl.doubtnut.com/l/_6LEKw8RnMyVP
https://dl.doubtnut.com/l/_dnBLOxcGW3JB

Answer:

o Watch Video Solution

202. If we add half a number to it we get 72

then the number is

A. 38


https://dl.doubtnut.com/l/_dnBLOxcGW3JB
https://dl.doubtnut.com/l/_ApWpSQPrV707

B. 48

C.64

D.90

Answer:

o Watch Video Solution

203. One person sold a radio at 10 % profit
then he gets 714 then the CP of that radio

was



https://dl.doubtnut.com/l/_ApWpSQPrV707
https://dl.doubtnut.com/l/_hfxyK8q06vwm

A. 160

B. 140

C.120

D. 680

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hfxyK8q06vwm
https://dl.doubtnut.com/l/_JemipnGiPPCe

Answer:

o Watch Video Solution

7

205.—- —p =11, p=
4 p 7p __________
A—7
T2
3


https://dl.doubtnut.com/l/_JemipnGiPPCe
https://dl.doubtnut.com/l/_Fs2dcfITq3NE

Answer:

° Watch Video Solution

206. "If 5 is subtracted from 4 times of a

number gives 19, then the number is

A.18

B.13


https://dl.doubtnut.com/l/_Fs2dcfITq3NE
https://dl.doubtnut.com/l/_vRBmzPJfn9Id

C. N

D. 19

Answer:

° Watch Video Solution

9
207.In 5 (2x+A)= 10x -E,RHS =

A. 10x+1

B. 10 )
A0z — 5

C. 10x-x



https://dl.doubtnut.com/l/_vRBmzPJfn9Id
https://dl.doubtnut.com/l/_ZVVLTHPAZ21K

D. 8x+1

Answer:

o Watch Video Solution

3:c+16_ ~

208 —ZX—
x + 7 4

y

A4
B.3

C.8


https://dl.doubtnut.com/l/_ZVVLTHPAZ21K
https://dl.doubtnut.com/l/_tB7NZErBWzvj

Answer:

o Watch Video Solution

B.6

C.—14

Answer:


https://dl.doubtnut.com/l/_tB7NZErBWzvj
https://dl.doubtnut.com/l/_2GJhfezCGtaf

° Watch Video Solution

210. We can the variables from one side

to another side like constants.

A. transpose

B. Balance

C. property

D. None

Answer:



https://dl.doubtnut.com/l/_2GJhfezCGtaf
https://dl.doubtnut.com/l/_1UTIhtnTYJOJ

211. If we double 2x we get

A. 3Xx

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1UTIhtnTYJOJ
https://dl.doubtnut.com/l/_sWsJwtCCD56V
https://dl.doubtnut.com/l/_VnSLQwWa3CDh

212.3x + 4= 2 (x- x) then x =

A2

3

B. ——
3

C.3

D.—4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VnSLQwWa3CDh

213. In a fraction numerator is 6 less than the

denominator. If 3 is added to the numerator it

becomes gthen the fractionis

O|lw ow|lw NFR A~

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TvnIXP4XH2Y7

214. Ramu found that the result obtained by
decreasing 10 from 8 times of a number is
equal to adding 4 to six times of the same

number. Then the number considered by Ramu

A7

B.8

C.9

D.5

Answer:


https://dl.doubtnut.com/l/_Eo17fVUtcnpl

° Watch Video Solution

215. The difference of two complementary

angles is 12 then the bigger angle of them is

A.51°

B.39°

C.57°

D. 43°

Answer:



https://dl.doubtnut.com/l/_Eo17fVUtcnpl
https://dl.doubtnut.com/l/_ipPO2IHao5NJ

216. In the following figure, the value of x is



https://dl.doubtnut.com/l/_ipPO2IHao5NJ
https://dl.doubtnut.com/l/_yILklkfDDIHr

C.67°

D.37°

Answer:

° Watch Video Solution

217. The sum of two consecutive odd numbers

is 56. Find the numbers.

A. 23

B. 25


https://dl.doubtnut.com/l/_yILklkfDDIHr
https://dl.doubtnut.com/l/_UpK688fmyQXw

C. 27

D. 21

Answer:

° Watch Video Solution

218, f(—3)"" ! x1x(—3)7°=(—3) "

then the value of n is

A.10

B. —10


https://dl.doubtnut.com/l/_UpK688fmyQXw
https://dl.doubtnut.com/l/_garowX2QCuga

C. N

D. —11

Answer:

° Watch Video Solution

219. Ifx=3 and y=2 then 8z - 3y° is equal to

A5
B. 24

C.48


https://dl.doubtnut.com/l/_garowX2QCuga
https://dl.doubtnut.com/l/_u9JL0a8PB95J

D.3

Answer:

° Watch Video Solution

220. The result obtained by adding 2 to the
thrice of a number by Ramesh is equal to the
result obtained by subtracting the same

number from 50. Then the number is

A. 12


https://dl.doubtnut.com/l/_u9JL0a8PB95J
https://dl.doubtnut.com/l/_HWdEti7lVhMf

B.13

C.14

D. 15

Answer:

o Watch Video Solution

221. For which value of x, L.H.S. and R.H.S.of the

following equation are equal 5x-12=2x-6

A2


https://dl.doubtnut.com/l/_HWdEti7lVhMf
https://dl.doubtnut.com/l/_Ee418p6gKE8v

B.3

C.4

Answer:

o Watch Video Solution

222. If we decrease 7 from four times of a
number, the result is equal to 21. The equation

representing this is


https://dl.doubtnut.com/l/_Ee418p6gKE8v
https://dl.doubtnut.com/l/_yavQklIfzXyi

A. 4x+7=21

B. 4x-7=21

C.4x-21=7

D. 4x+21=7

Answer:

o Watch Video Solution

223. Which of the following is a linear

equation?


https://dl.doubtnut.com/l/_yavQklIfzXyi
https://dl.doubtnut.com/l/_b4lKoU1Hsf7t

A 5z? + 2zy +y2 =15
B. 2x-3y+5
C. x+y+7=0

D.2z2 = 3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_b4lKoU1Hsf7t

